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QUESTION 1

What are two requirements needed to enable a 4 vCPU virtual machine with Fault Tolerance? (Choose two.) 

A. vSphere Enterprise Plus license 

B. 1 GbE uplink for FT logging network 

C. vSphere Standard license 

D. 10 GbE uplink for FT logging network 

Correct Answer: AD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.avail.doc/GUID57929CF0-DA9B-407A-BF2E-E7B72708D825.html 

 

QUESTION 2

Which three actions allow a VMware vSphere 6.x administrator to view vSphere log files? (Choose three.) 

A. Analyze the vSphere logs from the vRealize Log Insight user interface. 

B. Download the vSphere log bundles from the Direct Console User Interface (DCUI). 

C. Download the vSphere log bundles from vSphere Web Client connected to a vCenter Server system. 

D. View the vSphere log files from the vSphere Web Client Log Browser. 

E. Analyze the vSphere logs from the vRealize Operations user interface. 

Correct Answer: ACD 

 

QUESTION 3

A VMware vSphere 6.x administrator is creating an Alarm Action. What are three configure actions? (Choose three.) 

A. Run a command. 

B. Shutdown Guest. 

C. Send a notification email. 

D. Restart Guest. 

E. Migrate VM. 

Correct Answer: ACE 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.monitoring.doc/GUID-8F833B44-E675-406D-BFC1-64FB08EF6DFD.html 
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QUESTION 4

Which two components are built into the vCenter Server Appliance 6.x? (Choose two.) 

A. vSphere Auto Deploy 

B. vCenter Converter 

C. vRealize Orchestrator 

D. VMware vSphere Update Manager 

Correct Answer: AD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.install.doc/GUID78933728-7F02-43AF-ABD8-0BDCE10418A6.html 

 

QUESTION 5

Which statement describes a vApp? 

A. It is a container, like a resource pool which can contain one or more virtual machines. 

B. It is a software computer that, like a physical computer, runs an operating system and applications. 

C. It is a file format that supports the exchange of virtual appliances across products and platforms. 

D. It is a master copy of virtual machines that allows creation of ready-for -use virtual machines. 

Correct Answer: A 

Reference: https://pubs.vmware.com/vsphere-4-esx-vcenter/index.jsp?topic=/
com.vmware.vsphere.bsa.doc_40/vc_admin_guide/managing_vmware_vapp/ c_managing_vmware_vapp.html 
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